FERHFAER (B ERX

g w FEHSH B R GE ®HR &H = 20244F 2 H20H(K) PAGE : 1
BiE-PE-RE  CHEBRRUHSEBRELEESE)
BO& TEED O 8% #YFE RS E] # Y 5 3 # % W3l
EE kg ka ke |BEEE B &iE Gl ey & Gl RfE
1101 X4R EE 152 1,520 0 1,520 10. 00 0 0 0 1,080 0 540
EE 1 105 0 105 15.00 0 0 0 648 0 432
&t 159 1,625 0 1,625
O3 &b mE 24 240 0 240 10.00 0 0 0 2,268 0 1,080
ED 44 440 0 440
TM3EFEAS (Eh 225 2,250 0 2, 250
1121 43 &) 3 30 0 30
1141 #4348 EE 7 35 0 35 5.00 0 0 3, 240 156
e 5 50 0 50 10. 00 0 0 1,620 864
D 12 85 0 85
1201 B3 20 35 525 0 525 15.00 0 0 0 1,728 0 1,620
G 407 6,105 0 6, 105
1208 v Ry |25 310 3,100 0 3,100 10. 00 0 0 0 1,188 0 864
G 420 4,200 0 4,200
1206 E5HhAE | EE 1,807 723 723 0 0.40 124 49 0 0 0
L= 33 132 0 132 4.00 0 0 1,512 0
12k 420 84 0 84 0.20 0 0 65
GH 2,304 956 740 216
120752 B 980 98 98 0 0.10 35 0 33 0
B 105 105 105 0 1.00 302 0 292 0
&H 1,088 215 203 12
1208 8% Eh 31 93 0 93
1223 &% EE 630 189 189 0 0.30 97 0 49 0 0 0
GH 630 189 189 0
1301 f ¥ = 30 60 0 60 2.00 0 0 0 1,188 0 972
[=%:1 1,080 324 0 324 0.30 0 0 0 0 119 0
F=¥1] 55 28 0 28 0.50 0 0 0 0 162 0
=¥l 29 145 0 145 5.00 0 0 0 0 2,160 0
D 1,194 557 0 557
1311 b= b REXR 320 96 0 96 0.30 0 0 0 0 162
BEX 30 120 0 120 4.00 0 0 0 0 1, 404
EH 350 216 0 216
1321 $1 K mE 88 440 0 440 5.00 0 2,376 2. 052
(=% 100 500 0 500 5.00 0 2, 268 1,944
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(EE kg kg kg |HEBE BR il il RiE il P18 &8
G 188 940 0 940
1B1E-7> |8 600 90 0 90 0.15 0 0 0 119 0
HiE 600 18 0 78 0.13 0 0 0 113 0
&P 1,200 168 0 168
135322 b =¥ 90 9 0 9 0.10 0 0 0 281 0 130
G 80 9 0 9
1407 X = ERE 200 20 0 20 0.10 0 0 0 0 16 0
EBRE 8 40 0 40 5.00 0 0 0 0 3, 456 0
D 208 60 0 60
1501 HE A= 5 25 0 25 5.00 0 0 0 3,024 0 1,080
(&H 10 50 0 50
1521 B g 5 50 0 50 10.00 0 0 0 4,428 0 3,132
G 5 50 0 50
1541 £ deiEE 255 5,100 0 5, 100 20.00 0 0 0 3,780 0 2,916
G 257 5,120 0 5,120
1603 L) — | BE 5 50 0 50 10.00 0 0 0 2, 808 0 2,160
(&H 5 50 0 50
1609 vl (&N 38 152 0 152 4.00 0 0 0 2,376 0 1, 901
€] 38 152 0 152
1611 L2 X e 20 200 0 200 10. 00 0 0 0 2,646 0 1,836
i 5 25 0 25 5.00 0 0 0 1, 296 0 972
D 25 225 0 225
16129 =L 2R |18 5 25 0 25 5.00 0 0 0 1,404 0 1,296
& 12 60 0 60
1621z k< b~ | &N 60 12 0 12 0.20 0 0 0 0 151 0
HEX 15 45 0 45 3.00 0 0 0 2,484 0 2,268
G 219 86 0 86
1705 5% = 990 19 0 19 0.08 0 0 0 70 0 45
= 3 12 0 12 4.00 0 0 0 0 3, 456 0
(&t 997 107 0 107
1803 & #H G 690 18 0 78
1807 BE &I 150 15 0 15 0.10 0 0 0 0 45 0
EH 1,350 210 0 270 0.20 0 0 0 0 67 0
GH 1,500 285 0 285




MEMF TR K EBX

= === H= NG .
ol TEREORKTBEE w080 P
SiE-HE-TE CHERRUHFHESHLEESD)
i & FTEER H O 8 H HY5E HxTES] & U R 5 # % H 5
&% kg kg kg |HEEE B = {E e g El SiE i [E
1808 L&H L K% 800 80 0 80 0.10 0 0 0 39 0
=5 300 60 0 60 0.20 0 0 0 0 81 0
(& 1,100 140 0 140
* SMEHET 25,162 39, 596 2,247 37, 349
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EE kg kg kg |E£2H B =1 Hh{l R{E i il Eyl
201152 =TI (GH 3 51 0 51

2121 5 BIE 20 200 0 200 10. 00 0 0 0 0 2,700 0
(D 20 200 0 200

2131 &4 =z I 40 160 0 160 4.00 0 0 0 0 2, 106 0
€)) 40 160 0 160

2138 FaRy FIER 20 200 0 200 10. 00 0 2,592 0

EZ) 15 75 0 75 5.00 0 2,484 0
EH 35 2175 0 275

2218x 55 50 500 0 500 10. 00 0 0 0 6, 804 0 3,348
EH 50 500 0 500

200 77— R = 1 9 0 9 9.00 0 0 0 0 27, 540 0
& 1 9 0 9

2811 & =3 40 12 0 12 0.30 0 0 0 0 562 0

12 80 22 0 22 0.21 0 0 0 594 0 540

Ei% 180 49 0 49 0.27 0 0 0 616 0 562

EXR 80 20 0 20 0.25 0 0 0 0 497 0

= 120 36 0 36 0.30 0 0 0 616 0 562
EH 620 168 0 168

2823 F—r) 4 SR 20 80 0 80 4.00 0 0 0 0 2,484 0
(&) 20 80 0 80
* FAEH* 1,455 2, 805 0 2,805




